Sets & Set Operations/Venn Diagram Activity
   Name __________________

1. 
(a)
If set B = {l, i, n, e, s}, find the cardinality of B. 
n(B) =  __________


(b) 
If set G = {∆, ⌂, □, ○}, n(G) = 4. 
True or False.
 __________
Fill in the blank with the symbol 
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that makes the statement true. On #3, explain your reasoning.
2.
(a) 6 _____ {0, 1, 2, 3}


     3.           17 _____ 
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(b) 3 _____ {0, 1, 2, 3}
4.
Multiple choice. How many subsets does the set A = {0, 1, 2, 3} have? 


(a) 4

(b) 6

(c) 15

(d) 16

(e) None of these


List 3 proper subsets of set A. 
__________ , __________ , __________

True or False.
{0, 1, 2} 
[image: image3.wmf]Ì

 {0, 1, 2, 3}  __________
If A = {1, 3, 5, 7, 9}, B = {1, 2, 3, 9}, and the universal set U = {0, 1, 2, 3, 4, 5, 6, 7, 8, 9}, find

5.
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Bonus (4 extra points): For #5–10, complete the following Venn diagram.
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